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15, mnﬁmnwﬁaﬁzﬁwmaﬁvﬁ,mmﬁﬁ? S
A) FIES B) ethel C) FEgd R
14. JoIeT &I T Mﬁiﬂ?wmﬁ,maﬁmaﬁﬁa@. H:W"I'ﬁ
A) HFEer B) AT C) TSAH ) SRR
15. Tt yrseren faregrelf wrseren i faret = |
INEEIEIC B) Wi ®) Fsl D) |
16. Choose the correct antonym of the wo(@,*BEI JEF v
A) Trust B) Sure C) Right D) Doubt

17. Choose the correct noun in e #iven sentence : I have received no information

Al B) Information ~ C) Received D) No

18. Choose the corregt@sionym of the word : Town
' C) city D) capital

A) village B) cantonment
19. Choose whitH is not synonym word in given words of : PROHIBIT
A) ban B) prevent C) abandon D) forbid

20. Choose one word from following words which is wrongly spelt ?

A) Providential B) Sattelite C) Precedence D) Suspect

Which is effective word from the given words to fill in the blank to make the sentence

2.
to the teacher for coming late to school.

meaningfully complete ? : I
A) went B) apologized C) told D) bowed

22. When we they were having lunch. (Choose the correct alternative)

A) arrive B) will arrive C) arrived D) had arrived

23. Which ;
hich is not Synonym word in given words ? ;: Exterminate

A) Destro
y s . :
o B) Eliminate C) Eradicate D) Distress
Correct 9 Peltin four different ways. Out of them only one is correct, Which 0n€ is
Ay Temaﬁve

B) Tentit;
i C) Tentetive D) Tenttive
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25. Choose from the group of words given below the phrase for Idiom : To shake of

A) Get read off B) Togetridof C) Toescapeof D) Torunaway

26. Find the correct use of NOUN
A) No pain was spared
C) Pains were not spared

B) No pains were spared
D) Pain was not spared

27. Choose the antonym of the word : URBAN
D) Metropolitan

A) Town B) Rural C) City
28. Which is effective word from the giv }ords to fill in the blank to make the sentence
meaningfully complete ? : Whom w, ?you prefer the two of us ?
A) among B) of (0'9 C) between D) to
29. Choose the word which is r%@opposite in meaning of the word : Pleasant
A) admirable %@ disgusting C) indecent D) unexpected
30. Choose appropria%.@]onyms of : DEMISE .
A) Accident Q B) Dismissal C) Death D) Disappear
31. @-faom
A) B AR B) 01 GwTRe V1 €
C) &4 FwTfe o1 € D) RfaRfed ST e
318 TEUAT.
3. sEEE T L SR
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33. Tl 0T T e Yol St ST 37
i C) femr D) FAIEH
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- 7
34, ToRTF afmzawm%ﬁﬁmmmﬁ -
HREEE C) AfausH D) TR
A) efem B)
35. HW HhzE1 U1
D) fewn
A) P B) fuae C) ol
g 7
36. #ft. 130 & m yferaives e o TE ATRdT o 2
A) &3 B) feadm C) Al et
"
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A) & B) € C) &
38, T ST AT AT @ﬁwmﬁaﬁq AR

A) Reafed. B) 3vdfcd. C) ¥oHicH.
39, mtm?ﬁai?ﬁummumwmﬁmaﬁvﬁi? 3
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A) &R B) STISH C) TEES D) ey
A1, Tee ST e atar. g = ST - e

A) Tt B) 3fwy C) mfed )
47 TETd 7 SEUR] oA 1@l |

A) IR B) d™ C) fuae D) =@
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' TerYid BId.
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61, The basic/smallest unit of living, classification 18
A) Species 13) Taxon C) Category
vy arfiaora s /aata e b aord ¢
A) Wil 1) degie ¢y aarl
62. Which of the following covers greater number of organisms ?
A) Family B) Species C) Genus
areeriah) asrmred shiaiel wata s A 7
A) Fe B) SO ) S
63. Inter-breeding animals bgighg to the same
A) Genus I3) Family ) Species
St~ o wrof) e feledT degm Hy rEdrd ¢
A) S B) & C) Sifd
64. A cubicalipatket of 8 cocci is called as
A) Sancina B) Spirillum
¢ e ST TR el FRURIT ¢
A) G B) fedicm C) WHEAThRE
65. Tuberculosis (TB) and leprosy arc caused by
A) Mycohuclcrium B) Salmonella C) Clostridium
e () v e e Ed
A) HRIhTsIFRLaH B) Hercel C) FARIEEM
66. Which cartilage is present in trachea, larynx and bronchi ?
A) Hyaline B) Fibrous C) Elastic
ey, g ST sif-ahre ATHEA I Fdferst afed ?
A) BT B) WRIsE C) TS
67. Which is not an intracellular compartment in the cell ?
A) Nucleus B) Mitochondria C) Chloroplast
et ahore Qafiefer dgritee s AT
5 B) WM C) AR
, r
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D) Subspecies
D) 3t

D) Kingdom

D) $H

C) Staphylococcus D) Vibrio

D) i
D) Vibrio
D) sl
D) Calcified
D) HcHhIES
D) Centriole

D) Rt
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68. RNA is absent in
A) Plasmalemma B) Ribosomes () Nucleolus D) Chloroplast
RNA I 94 ?
. & i
) CATHTA T B) TS ) ‘*‘gffﬁ"l?’ﬂi*lu D) AT

69. P protein refers to
A) Phl otei i | [
) oem protein B) Plasma peotein C) Platelet protein D) Primary protein

P NI RIS % 7
A) AT e B) g md  C) aee M 1y) s e

70. Which is not a pentose fugar ?

B) Xylose () Xylulose D) Mannose

A) Arabinose
TS YR IRy AR ¢
A) TUfsHIt

71. Maxirfram absorption of water occ

B) AN C) HE! D) AT

urs in
B) Root cap

A) Root hair zone
D) Region of mature cells

C) Region of zone of elongation
oA ST ST FIMAEA B ¢
A) A T B) ¢ HU
C) effeporreert &ATN D) fcaer deffe
72. Zinc is a
B) Trace element

A) Tracer element
D) Nonmineral nutrient

0)) Macronutrient

|EED 3Te.
A) JEHTH B) oH HH C) e D) AR e
73. Number of lobes in right and left lungs in man are
A) Two, four B) One, tWoO C) Three, four D) Six, three
oA IS e oA T e ot ¢
B) T, aH ) H, =0 p) @@, dH

Scanned by CamScanner




C - 016-11

74.

5

76.

f i B

78.

79.

Scanned by CamScanner

Purkinje fibres are found in

A) Brain B) Liver C) Eyes D) Heart
T FIIER FIHE ATeSATd ¢
A) T pagE O Ee D) &

The counter current mechanism occurs in

A) Loop of Henle B) Vasa recta () Collecting duct D) BothA &B
S HE T FAWR NGB ¢

A) T Y By s C) SRA@EN D) ASUBIR

Individuals of clone have

A) Same age B) Same height

C) Same genome D) Same number of leaves

A FA _ 3.

A) ITE =Y B) GwEl 3 C) GrdtsHH D) U T S
Development of seed from an unfertilised egg is

A) Vivipary B) Parthenocarpy C) Apogamy D) Apospory
FTfera sreaTeA feaToT= faehmTeT R ¢

A) TRt B) Wil C) W D) et
Spermatoids are transformed into spermatozoa by

A) Spermiation B) Spermatogenesis

C) Spermatosis D) Spermiogenesis
TTTeIEEE YA T Hel YETid g ¢

A) wafuE B) TieRREE  C) T D) Ty
In the ovary the growth of pollen tube is directed by a tissue called

A) Transmitter B) Obturator C) Antipodal cells D) Pollinator
FEAWT s a1e 10 If hefl Sd ¢

A) e B) sfesftx ) iddlead it D) uiehiex
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opment sta
A) Cleavage > Eo8i the life cycle of
& fertilisation > differentiation > fruit formati i p
rmation

B) Pollina
tion > fertilisation > seed formation >
gerrmnauon

C) Germination > double fert

13) Maturation > mitosis > di;:::t);ti)oznj cifSeI:iEain;n o
= Sfaas e fasia soera Softs Fr o ?

A) T > e > e > wes Tt (

) qﬂﬁ%ﬂq > et > form ffid > st

C) SN > Gl e > e el > oo

D) ufuedn > favree > faerma-sehc
81. Which of the following disease is diagnosed by Australia antigen test ?
A) AIDS B) Hepatitis B C) Genital warts D) Chancroid
CIRINEEIEANR ISR ISR ot =i e et S ¢
A) TeH B) feaddmsh
C) Sfcadd D) BFHEE (Chancroid)

82. A permanent method of birth control is
A) Vasectomy in males
C) Both A and B

B) Tubectomy in females

D) None of these

SRR s Tgd ! ¢
A) e e B) TRl SIsE
C) A @i B & D) eI HRE T
83. Which of the following 18 sexually iransmitted disease ? |
A) Typhoid B) Tetanus C) Leprosy D) Hepatitis B
Greliereh! ol mﬁ:ﬁ%ﬁm@waﬁ ? a0 ¢
A) TAHES B) ugdid C) WS p) feréde :
the method in which a sperm is directly injected

84. In assisted reproductive technology:

: is called as

1nt;> t;;:)rvum is calle S s C) GIFT D) ET :
WWWW"“'”@ e % | D;ﬂ; |
A) ZIFT B) ICSI Gy GIHL
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5. Blood group O is universal Jdonor because :
A) It has noO antigen tO clump with any antibody of T?C)plem
B) It has no antibody 10 clump with antigen t0 recipient
C) Both A and B
D) No definite answer is known
o T2 O B AfFere A e et e
) ST e aﬁa@ﬁaaaam@mm@m@ AR
B) v e A AT SRS T
C) A 30T B Al
D) TR ferree T EIG
86. Turner syndrome ;s caused P
A) Autosomal aneuploidy, B) Sex chromosome aneuploidy
C) Plyploidy D) Trisomy
B L EDULE: At
A) SiEEEy 7 B) & W(ﬁﬁﬂﬁg‘
C) IR RISt p) dEE
g7. Term chromosome Was coined by
A) Waldeyer B) Strasburgef
&) Hofmeister D) Sanger and Altman
FrgE & ol i et ¢
A) TS B) BT
C) @ ' D) Hw A I
gg. Chromatin is composed of
A) DNA + histone
B) DNA + RNA + histone
amounts of RNA

C) DNA + small
histone proteins

D) DNA + RNA + histon®
g e w7 Ed
A) DNA + f&=
B) DNA +RNA +
C) DNA + RNA 3 eI&H T
D) DNA + RNA + f&eeH ot FEe e

A2

and non
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g9. First photosynthetic organism to appear on earth were

A) Bacteria
C) Cyanobacteria i et
D) Bryophytes’
e TR R P i R B |
A) sﬁava B) fe@ e
C) RsERIET D) SEEE
90. Use of Kangri by Kashmir is causes caneer.
A) Oral B) Lung
C) Abdominal skin D) Pancreas
7o ST TR hea o) s R
ISEUSEL B) FUFEr
C) T =T D) w@gdEr
ing same

Two physical quaffti€s, one of which is vector and other is scalar, havin

91.

dimensions are,
A) work aridhenergy B) work and torque
C) pressure and power D) impulse and momentum

S e T, ST O Fe s e 9T, A A S o R
A) FE TSI By o NI
C) @ ST T p) i SATEET

92. Which of the following 18 NOT an example of linear motion ?

A) abook at rest

B) a body in uniform circular motion

C) wheel rotating at uniform speed on road

D) a body rolling do

@wﬁaﬁfﬁmlﬁaﬁ‘
@eﬂﬂmw

B) mﬂaﬁ’é@é‘ rferefiet 1K
ﬁmrﬁ%rﬁ
D) I EIRICAER :
L
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93. Impulse indicates

A) the momentum generated in the direction of force

B) the combined effect of mass and velocity

C) the main characteristics of particle nature

D) the pressure generated on particle . ’Q

ST T egiadl ¢
A) W%ﬁaﬁﬁmm‘g@g B) a@rﬁa‘aﬂwmqﬁm
C) wmmﬁg@ag&r D) sroTra T et &

94. The path followed {g&&-o]ectﬂe is called as
? B) projection

3-yee HTe T U ¢
A) sEATH B) SieH

lowing, under what condition the
B) in stretching a spring

C) trajectory D) hyperbola

A) eclipse

C) ol D) SEUE

potential energy of a body decreases .,

95. Out of the fol
A) In compressing a spring

oving a body against gravity

D) in rising an air bubble in water

C) in m

e, mmmmmwmm?
A) =t ZEEE B) offn edr
) wnfaEg TR BAadTl D) qroaAefie geren G S Tt

96. .
6. In absence of external forces, the velocity of centre of mass

A) is zero ; :
B) is constant C) decreases D) increases

“ -
;:“""“'Wmanm ?
= o ol c) = p) dread
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7. The weight of a body on moon’s surface is lesser than that on earth’s surface because
A) there 1s no atmosphere on the moon

B) moon is far off from the earth
C) moon is cooler than earth

D) moon has lesser gravitational force

ST TSI TR SIS R QeI T TTTIaHet SHTIET <hel 3T

A) FETER AT THd B) =g yeaiargd s S 3R
C) =g &1 g o e D) S FIEL R SEIRERISIS
98. According to Hooks law, stress with regpeet Lo strain is
A) equal B) inversely proportional
C) directly proportional D) reciprocal to one another
e foarmmTat, forspt ws iR SiT .
A) FHH B) oI JHIUTIA
C) 9 JHIId D) TR A
i .afiid layer is maximum at
99. Velocity of liquid lay e
B D) the end of the pipe
C) middle
yfereram T,
7o W A ——— oo BT
A) T HATE B) Tl

. . ]

will B) increase

‘ mperature
A) decrease D) depend upon surrounding temp
C) remain the same 7 oo !

P—-— ST, T AT
aﬁqwﬂﬁﬁa%@ﬁa e

A) A
B) aﬁﬁém
C) TRET e
| NIELIEICICEREN
D) FEereT :
A5-
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